ler tour TAT | DOUB | TRIP | TOTAL
LIVAROT (14) 6 8 0 14
LAUDUN (30) §) 4 12 22
YZEURE (03) 6 8 6 20
SAINT JEAN DE LA RUELLE (45) 6 4 6 16
2éme tour TAT | DOUB | TRIP | TOTAL
LAUDUN (30) 10 8 6 24
YZEURE (03) 2 4 / 6
LIVAROT (14) 0 6 14
SAINT JEAN DE LA RUELLE (45) 4 12 6 22
3éme tour TAT | DOUB | TRIP | TOTAL
LAUDUN (30) 10 4 6 20
SAINT JEAN DE LA RUELLE (45) 2 8 / 10
LIVAROT (14) 8 8 6 22
YZEURE (03) 4 4 / 8
CLASSEMENT ler tour |2éme Tour|3éme tour| TOTAL
LAUDUN (30) 3 3 3 9
SAINT JEAN DE LA RUELLE (45) 1 3 1 5
YZEURE (03) 3 1 1 )
LIVAROT (14) 1 1 3 5

tir 7
tir 6

tir 4



